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Y4
L - - .
R
CER7027C-1R1N CER7027C-1R1N
2 10000
15 \ 1000 =
. L] — HESESSSH
E:. s 100 =—— H
g 0.5 \g
g 5
g0 g H
£ 2l E
-05
! v
-15
1 10 100 1000 1 10 100 1000
Frequency (MHz) Frequency (MHz)
CER7027C-1R5N CER7027C-1R5N
3 10000
n
2 1000
L4+
T g 10
g Y
g 0 e £ 10
S 3
E £ T
1 / - 1
2 v
-3
1 10 100 1000
Frequency (MHz) Frequency (MHz)
CER7027C-2R2N CER7027C-2R2N
5 10000
3 1000 4
: / == :
el <) =
§ N § 100 | L
S
g0 ] é 10 ]
E /1 g EBeeer
1
: [ 1
/
3 [ —
4 0.1
1 10 100 1000 1 10 100 1000
Frequency (MHz) Frequency (MHz)

SONHHE ot



Frequency vs Inductance/Impedance
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Frequency vs Inductance/Impedance
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Frequency vs Inductance/Impedance
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